FRACCIONES

Problema 54:

Simplifica la fraccion:

1 2b a 3 2ab
(a+b+a2—b2)(a—b+a+b_a2—bz)
4a a—b a+b

b " a+bTa=b

Solucion Problema 54:

1 2b a 3 2ab
(a+b+a2—bz)(a—b+a+b_a2—b2)
4a_a—b+a+b
b a+b a-b>b

En el numerador:

m.c.m de (a + b) y a® — b* = a® — b%;ya que a* — b?

= (a+b)(a—Db)

m.c.mde (a—b); (a+b)ya?— b?
= a’ —b? yaquea*—b*>=(a+b)(a—Db)

En el denominador:

m.c.mde b(a+b)y (a—b) = b(a* — b?);ya que a* — b*
= (a+b)(a—Db)

a—b+ 2b\ ,a(a+ b)+3a(a—b) — 2ab
(az—b2 )( a’ — b? )
4a(a? — b?) — b(a — b)? + b(a + b)?
b(a? — b?)
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(a —b + 2b)[(a® + ab) + (3a* — 3ab) — 2ab
(aZ — b2)?
4a(a? — b?) — b(a — b)? + b(a + b)?
b(a? — b?)

(a — b+ 2b)[(a® + ab) + (3a? — 3ab) — 2ab
(a* — b?)
4a(a? — b?) — b(a — b)? + b(a + b)?
b

(a + b)(a? + ab + 3a? — 3ab — 2ab)b

~ (a%? — b?)[4a(a? — b%) — b(a — b)% + b(a + b)?]

(a + b)(4a? — 4ab)b

(a+ b)(a— b)[4a(a? — b?) — b(a — b)? + b(a + b)?]

B te—+b3[4a(a — b)]b
~ La—+b3(a — b)[4a(a? — b%) —b(a — b)? + b(a + b)?]

[4ate—b3]D

ca—b3[4a(a? — b?) — b(a — b)? + b(a + b)?]

4ab
~ [4a(a? — b?) — b(a? + b2 — 2ab) + b(a? + b2 + 2ab)]
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4ab

[4a(a? — b?) — a?b — b3 + 2ab? + a?b + b3 + 2ab?]
4ab B 4ab

[4a(a? — b?) + 4ab?] 4e&[(a? — b?) + b?]

b b
a2 —b2+b2 a?
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